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4% M Characteristics

TIERESEE
Category Temperature
Range

-55C~+105C

HERELE
Rated Voltage Range

4~100V.DC

B EEE
NominalCapacitance
Range

1uF ~2200uF

HRRERERITFRE
NominalCapacitance
Tolerance

+20%(120Hz,+20 C)

it FR A e B 1=0.01CV( u A) or 3 (u A) after 2 minutes

Leakage Current(MAX) I=Leakage Current( uA) C=Nominal Capacitance( uF)  V=Roted Voltage(V)

R AEYE Rated Voltage(V) | 4 | 63 | 10 | 16 3 | 50 | 63 | 100
Dissipation Factor(MAX)

Tan § (20°C,120Hz) Tand 0.35 | 0.30 0.24 0.20 0.18 | 0.16 | 0.14 | 0.14 | 0.14

it A M Load Life

+105CHENENE TEFBE2000H/E, M B16H, BRF/NHE A TER,
After applying rated voltage with max ripple current for 2000hrs at 105°C,and then resumed 16 hours,
the capacitors shall meet the following requirements

Capacitance Change

+ 30%HNIRTE AN

Within +30% of the initial value

Dissipation Factor

<200%41F&ELLA  Not more than 200% of the specified value

Leakage Current

<¥IEMEE

Not more than the specified value

=iR7E Shelf Life

+105C, I7F1000H/5, A%
After storage for 1000hrs
following requirements

BE16H, BRAFNHEUATERK,
at 105°C, then resumed 16 hours, the capacitors shall meet the

Capacitance Change

+ 30%MIAE K

Within +30% of the initial value

Dissipation Factor

<200%#IEAE LA Not more than 200% of the specified value

Leakage Current

<300%ANIBREL A  Within 300% of initial specified value

7E250CHE M T, BARENE LRFF0F, ARMAR LR HBERR LHEZR THE BERNHEUTER,
The capacitors shall be kept on then hot plate maintained at 250°C for 30 seconds.After removing

Tt s from the hot plate and restored at room temperature, they meet the following requirement:
Resistance to Soldering Capacitance Change + 10%#REILA  Within +£10% of the initial value
Heat Dissipation Factor <HVBINEE Not more than the initial specified value
Leakage Current < VIR EE Not more than the initial specified value
Roted Voltage (V) 4 6.3 10 16 25 35 50 63 10
= 1] =
RS R BB L osomaos | <08 | 7 s 2 2 21 21 21 2
Low Temperature Stability
. (120Hz) =d8 7 5 4 3 2 2 2 2 2
Impedance Ratio (MAX) o8 15 5 p . 3 3 3 3
120Hz Z—4OOC/Z+ZOOC <
(120Hz) =8 15 10 8 6 4 3 3 3 3







